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*Additional typos or errata

Corrections for 05/23/2014
	Pg
	Error
	Correction

	175
	Chapter 7, Table 7-5, Column Type 4 LSAs, Rows R3 and R4

Reads:

1 (because the topology contains only one ASBR)
	Should read:

0 (because all OSPF-speaking router interfaces belong to the same area as the ASBR)




Corrections for 07/12/2013
	Pg
	Error
	Correction

	176
	Chapter 7, Table 7-6, Header for third column

Reads:

Point-to-Point
	Should read:

Point-to-Point*

	176
	Chapter 7, Table 7-6, 

Add note at bottom of table
	Note should read:

“*NOTE: The Point-to-Point OSPF network type is also used, by default, on Frame Relay point-to-point subinterfaces.”


Corrections for 07/02/2013
	Pg
	Error
	Correction

	353
	Chapter 11, Step 2

Reads:


Step 2.  If the right-most bit isn’t already 0, it should be changed to an 0, because the 25th bit of a multicast MAC address is always 0.
	Should read:

Step 2.  If the left-most bit isn’t already 0, it should be changed to an 0, because the 25th bit of a multicast MAC address is always 0.

	400
	Chapter 12, Table 12-6, Description of maximum-paths number
Reads:

Interface configuration mode command that specifies the number of equal-cost paths across which RIPng can load balance (defaults to 16 with a valid range of 1-64).

	Should read:

The maximum-paths command is a router configuration mode command, rather than an interface configuration mode command.


	408
	Chapter 12, First paragraph, third sentence

Reads:

Example 12-31 highlights the ipv6 rip PROCESS1 default-information originate command used on router BB1 to create its default route advertisement.
	Should read:

Example 12-31 highlights the ipv6 rip PROCESS1 default-information originate only command used on router BB1 to create its default route advertisement


Corrections for 05/15/2013
	Pg
	Error
	Correction

	299
	Chapter 10, Second paragraph, first sentence
Reads:

Another common IP service addressed in this chapter is DCHP.
	Should read:
Another common IP service addressed in this chapter is DHCP.

	301
	Chapter 10, Question 7

Reads:

7.  Which two of the following protocols are forwarded by a DCHP relay agent, in addition to DHCP? (Choose the two best answers)
	Should read:

7.  Which two of the following protocols are forwarded by a DHCP relay agent, in addition to DHCP? (Choose the two best answers)

	315
	Chapter 10, Last paragraph, second sentence

Reads:

The output indicates that an IP address of 10.1.1.2 was assigned to a DHCP client with a MAC address of 3030.312e.3066.3163.  
	Should read:

The output indicates that an IP address of 10.1.1.2 was assigned to a DHCP client with a MAC address of 0004.27d4.0b21.

	316
	Chapter 10, Example 10-9

Reads:

R1#show ip dhcp binding

Bindings from all pools not associated with VRP:

IP address Client-ID/
Lease Expiration
Type
Hardware address/

User name

10.1.1.2   0063.636f.2d63.Oct 03 2009 12:03 PM Automatic 3030.312e.3066.3163.0e30.3030.302d.4661.
	Should read:
R2#show ip dhcp binding

Bindings from all pools not associated with VRP:

IP address 


Client-ID/
Lease Expiration
Type

Hardware address/



User name

10.10.210.100
0100.0427.d40b.21
May 15 2013 05:21 PM 







Automatic 


Corrections for 05/09/2013
	Pg
	Error
	Correction

	410
	Example 12-34, remove line 30 (blank space) between lines 29 and 31 and indent line 31

Reads:


ipv6 address D:D:D:D: :1/64

ipv6 rip PROCESS1 enable


frame-relay interface-dici 182
	Should read:


ipv6 address D:D:D:D: :1/64


ipv6 rip PROCESS1 enable


frame-relay interface-dici 182


Corrections for 04/24/2013
	Pg
	Error
	Correction

	24
	Chapter 1, Table 1-5, Command, fourth command down

Reads:

time-period seconds
	Should read:

time-period minutes

	50
	Chapter 3, Specialized Diagnostic Tools

Reads:

This section introduces a collection of specialized features, such as Switched Port Analyzer (SPAN), Remote SPAN (RSPAN), Simple Mail Transfer Protocol (SMTP), NetFlow, and Embedded Event Manager (EEM), which can be used to collect information about a problem.
	Should read:

This section introduces a collection of specialized features, such as Switched Port Analyzer (SPAN), Remote SPAN (RSPAN), Simple Network Management Protocol (SNMP), NetFlow, and Embedded Event Manager (EEM), which can be used to collect information about a problem.

	65
	Chapter 3, Example3-18, seventh configuration down

Reads:

sw1(config)# monitor session 1 destination remote vlan 20 reflector-port gig 0/3
	Should read:

sw1(config)# monitor session 1 destination remote vlan 20

	161
	Chapter 6,  First sentence

Reads:

Finally, you examine the EIGRP configuration on router R1, as presented in Example 6-19.
	Should read:

Finally, you examine the EIGRP configuration on router R2, as presented in Example 6-19.

	174
	Chapter 4, Table 7-4, LSA Type 7, Third Sentence  under Description Column

Reads:

Those external routers are announced by an ABR of the NSSA using Type 7 LSAs.
	Should read:

Those external routers are announced by an ASBR of the NSSA using Type 7 LSAs.


Corrections for 09/26/2012
	Pg
	Error
	Correction

	331
	Chapter 11, Last Bullet Point, Third and Fourth Sentences

Reads:


Then, 20 minutes later, packet #2 arrives.  After another 70 minutes, packet #3 arrives, and then packet #4 arrives 20 minutes behind packet #3.
	Should read:

Then, 20 milliseconds later, packet #2 arrives.  After another 70 milliseconds, packet #3 arrives, and then packet #4 arrives 20 milliseconds behind packet #3.


Corrections for 03/31/2011
	Pg
	Error
	Correction

	131
	Chapter 5, Figure 5-11

The LAN interfaces for routers BB1 and BB2 

Reads:  FA 0/0
	Correction for LAN interfaces for routers BB1 and BB2 Should read:

Fa 0/1


Corrections for 10/32/2010
	Pg
	Error
	Correction

	20
	Chapter 1, First Paragraph, first sentence after Example 1-9

Reads:

In Example 1-9, events with a severity level of warning (this is, 4) or less (that is, 0-2) are logged to the router’s buffer.
	Should read:

In Example 1-9, events with a severity level of warning (this is, 4) or less (that is, 0-3) are logged to the router’s buffer.

	44
	Chapter 2, Maintaining Current Network Documentation, Second Paragraph, Last Sentence

Reads:

Such a scenario is often worse than not having documentation at all, because in the absence of documentation, a troubleshooter is not aware of the need to collect updated and appropriate data.
	Should read:

Such a scenario is often worse than not having documentation at all, because in the absence of documentation, a troubleshooter is aware of the need to collect updated and appropriate data.

	68
	Chapter 3, Last Paragraph, Fifth Sentence

Reads:

The ip flow-export source lo 0/0 command indicates that all communication between router R4 and the NetFlow collector will be via interface Loopback 0.
	Should read:

The ip flow-export source lo 0 command indicates that all communication between router R4 and the NetFlow collector will be via interface Loopback 0.

	92
	Chapter 4, Figure 4-13, Label at top of figure

Reads:

Network Segment 1 (Fast Ethernet: Cost=100)
	Should read:

Network Segment 1 (Ethernet: Cost=100)

	95
	Chapter 4, Figure 4-14, Table labeled Switch A’s MAC Address Table

Reads: Switch A’s MAC Address Table
	Should read:

Switch SW1’s MAC Address Table

	95
	Chapter 4, Figure 4-14, Table labeled Switch B’s MAC Address Table

Reads: Switch B’s MAC Address Table
	Should read:

Switch SW2’s MAC Address Table

	109
	Chapter 5, Question 6, a

Reads:

a.   GLBP is a Cisco proprietary first-hop redundancy protocol.
	Should read:

a. GLBP is an industry-standard first-hop redundancy protocol.

	109
	Chapter 5, Question 7

Reads:

7. Which of the following is a Cisco proprietary first-hop router redundancy protocol?
	Should read:

7. Which of the following are Cisco proprietary first-hop router redundancy protocols?

	116
	Chapter 5, Example 5-6, first line

Reads:

R1# show run
	Should read:

R2# show run

	121
	Chapter 5, GLBP, first sentence

Reads:

Global Load Balancing Protocol (GLBP) can load balance traffic destined for a next-hop gateway across a collection of routers, known as a GLBP group.
	Should read:

Gateway Load Balancing Protocol (GLBP) can load balance traffic destined for a next-hop gateway across a collection of routers, known as a GLBP group.

	122
	Chapter 5, Table 5-4, first line

Reads:

Characteristic
HSRP
VRRP
GLBP

Cisco Proprietary  
Yes
No
No
	Should read:

Characteristic
HSRP
VRRP
GLBP

Cisco Proprietary  
Yes
No
Yes

	153
	Chapter 6, Last bullet and last line on page

Reads:

· delay = sum of delays of all interfaces in path in tens of milliseconds *256
	Should read:

delay = sum of delays of all interfaces in path in tens of microseconds *256

	171
	Chapter 7, OSPF Operation, OSPF Metric

Reads:

OSPF uses a metric of cost, which is a function of bandwidth.  Cost can be calculated as follows:


Cost = 100,000,000 / bandwidth (in kbps)
	Should read:

OSPF uses a metric of cost, which is a function of bandwidth.  Cost can be calculated as follows:


Cost = 100,000,000 / bandwidth (in bps)

	190
	Chapter 7, Example 7-13

show run   begin router
	Should read:

show run | begin router




	191
	Chapter 7, Example 7-14

show run   begin router
	Should read:

show run | begin router

	193
	Chapter 7, Example 7-16

show run   begin router
	Should read:

show run | begin router

	195
	Chapter 7, Example 7-20

show run   begin router
	Should read:

show run | begin router

	197 
	Chapter 7, Example 7-24

Missing show command
	Should read:

R2#show ip ospf interface s1/0.2

	197
	Chapter 7, Example 7-25

show run   begin router
	Should read:

show run | begin router

	199
	Chapter 7, Example 7-26

show run begin router
	Should read:

show run | begin router

	214
	Chapter 7, Last paragraph before Example 7-41, first sentence

Reads:

Router R1, which is acting as the boundary router, is actively participating in both the EIGRP and OSPF routing processes.
	Should read:

Router R2, which is acting as the boundary router, is actively participating in both the EIGRP and OSPF routing processes.


	270
	Securing the Management Plane

First paragraph, second line

As shown in Figure 9-1, the data plane can be accessed in several ways,
	Should read:

As shown in Figure 9-1, the management plane can be accessed in several ways,

	270
	Chapter 9, Modes of Access

First paragraph, first line

The methods of accessing the data plane illustrated in Figure 9-1 allow …
	Should read:

The methods of accessing the management plane illustrated in Figure 9-1 allow …

	271
	Chapter 9, Figure 9-1 Caption

Methods of Accessing the Data Plane
	Should read:

Methods of Accessing the Management Plane

	310
	Chapter 10, Example 10-5

R1(config-if)# ip helper-address 10.1.1.1
DHCP Configurations, Second Paragraph, fifth line,

Also, the ip helper-address 10.1.1.1 command specifies the IP address of the DHCP server,
	R1(config-if)# ip helper-address 10.1.1.2
Should read:

Also, the ip helper-address 10.1.1.2 command specifies the IP address of the DHCP server,

	336
	Chapter 11, MQC, Step 1

Router(config)#class-map [match-any   match-all] class-name
	Should read:

Router(config)#class-map [match-any | match-all] class-name


	374
	Chapter 12, Question 2, Answer C

Reads:

c.  AA0:123:4040::A:100B0
	Should read:

c.  AA0:123:4040::A:100B

	384
	Chapter 12, Table 12-5, last command 

Reads:


debug ip ipv6 ospf hello
	Should read:


debug ipv6 ospf hello

	394
	Chapter 12, Example 12-14, Issue#2, R2# show run

interface FastEthernet0/0

ipv6 ospf hello-interval 60
	Should read:

interface FastEthernet0/0

Note: remove ipv6 ospf hello-interval 60 from previous Issue#1

	395
	Chapter 12, Example 12-14, Issue#2, R2# show run
	Should read:

Note: missing interface Serial1/0.2 point-to-point configuration 

	435
	Chapter 13, third paragraph down from bullets, third sentence 

Reads:

LWAPP sends packets in a Layer 2 frame with an Ethertype of 0xBBBB.
	Should read:

LWAPP sends packets in a Layer 2 frame with an Ethertype of 0x88BB.

	479
	Appendix A, Answers to the ‘Do I Know This Already?” Quizzes, Chapter 5, Question 7

Reads:

7. 
A
	Should read:

7.
A and C
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